
Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

7/8" Bolts X12
 

Back
 

Front Slat
 

Back Slat
 

Right Leg
 

Left Leg
 

G Block X 4
 

7/8" Bolts X12
 

Back
 

Front Slat
 

Back Slat
 

Right Leg
 

Left Leg
 

G Block X 4
 

7/8" Bolts X12
 

Back
 

Front Slat
 

Back Slat
 

Right Leg
 

Left Leg
 

G Block X 4
 

7/8" Bolts X12
 

Back
 

Front Slat
 

Back Slat
 

Right Leg
 

Left Leg
 

G Block X 4
 

1x
BACK

1x
BACK SLAT

*Bolts shown 
actual size.

INCLUDED PARTS

ASSEMBLY INSTRUCTIONS

7/8" Bolts X12
 

Back
 

Front Slat
 

Back Slat
 

Right Leg
 

Left Leg
 

G
 Block X 4

 

4x
GB

1

Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

2x
7/8˝

2x
LEG

1x
FRONT SLAT

12x
7/8˝

2x

1x

LEGS

FRONT 
SLAT

1.2.3.5. 4.

ASSEM
BLY TIPS :  5 Im

portant Points You N
EED

 to Read

Prior to beginning assem
bly, please inspect and inventory the parts to m

ake sure 
you have everything and that nothing w

as dam
aged during shipping. If dam

age has 
occurred, please take photos and go to lolldesigns.com

/dam
age. Rest assured w

e’ll 
get it taken care of straight aw

ay!

To avoid scratching furniture, assem
ble on a clean soft surface like a blanket, carpet, or 

the flattened cardboard box the furniture w
as shipped in.

Start all bolts by hand to ensure proper alignm
ent and to prevent cross threading. 

Then using the Allen Key or Loll Tool, tighten until you feel resistance.

Bolts should not be forced, but som
e com

ponents, particularly the blocks w
ill need a bit 

of m
uscle to get them

 together as they are m
achined for a snug fit.  If parts are still not 

going together, please send us a photo of the part you are having trouble w
ith.

You can use a cordless screw
 gun if you have one and know

 how
 to use it. Set the 

clutch setting at low
 to m

edium
 torque. W

e do not recom
m

end using an electric drill 
w

ithout a clutch to install bolts as you can easily overtighten and dam
age the product.

ASSEM
BLY IN

STR
U

C
TIO

N
S & PR

O
D

U
C

T IN
FO

:

LO
LL TO

O
L

Locate the box m
arked 

“Tool Included” before 
beginning assem

bly. 

     R
EC

YC
LE TH

E PAC
K

AG
IN

G
W

e’ve gone through great lengths to m
ake as m

uch of our packaging as possible recyclable.  
The cardboard box, paper w

rap, filler and paper bags can all go in your recycling bin. The 
m

uslin hardw
are bags replaced plastic bags w

ith the intention of reducing plastic and 
encouraging reuse.  Loll D

esigns and Planet Earth thank you!

W
E W

AN
T YO

U
 TO

 LO
VE YO

U
R

 LO
LL

For m
ore info and visual aids, w

atch the assem
bly videos at w

w
w

.lolldesigns.com
/videos

For product care & m
aintenance, visit w

w
w

.lolldesigns.com
/care-m

aintenance
For further lollygagging assistance, please reach out!

+1 877-740-3387 
sales@

lolldesigns.com

5912 W
aseca Street

D
uluth, M

innesota 55807

BLO
C

K
 & BO

LT IN
STALLATIO

N
Insert bolts through countersunk hole side of blocks 
as show

n below.

C
O

R
R

EC
T

IN
C

O
R

R
EC

T

C
ountersunk 

      H
ole 

“Loll Designs inspires people to appreciate the outdoors.”
G

reg Benson - Founder/C
EO

LAG
O

 C
H

AIR



Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

2

3

4

Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

Step 4
 Step 3

 

Step 1
 
 

Step 2
 

*Tighten bolts from Step 3

Loosen bolts if necessary. 

1x

4x

1x

BACK 
SLAT

GB

BACK

4x
7/8˝

1xBACK

6x
7/8˝



*Bolt shown 
actual size.

*Bolt shown 
actual size.

INCLUDED PARTS

1x
P1

1x
P1

4x
P2

3x
P2

4x
GB

3x
GB

18 Square and 26 Round & Square

4 - Leg

18 Round and Milk Stool

3 - Leg

4x

7/8˝

or
an

ge

3x

7/8˝

or
an

ge

Loll Designs inspires people to appreciate the outdoors.

PR
O

D
U

C
T C

AR
E

Your new
 Loll furniture is a no m

aintenance product. You’ll never need to paint or stain it and it can be left 
outside all year regardless of the season. It w

ill not rot, even if left standing in w
ater. N

onetheless, w
e’re 

pretty sure your Loll furniture w
ill get a lot of use and w

ill at som
e point need cleaning. W

e recom
m

end 
a garden hose and incorporating a soft bristle brush. Adding a tablespoon or tw

o of your favorite eco-
friendly soap to the w

ash w
ill get everything squeaky clean. M

ineral deposits left over from
 hard w

ater can 
be rem

oved w
ith a solution of vinegar and w

ater. Loll offers a cleaning kit that has everything you need for 
great results. Also see our cleaning video at lolldesigns.com

/videos.

5 YR
 W

AR
R

AN
TY

Loll Designs strives to build long-term
 relationships based on confidence and trust w

ith our custom
ers.  

W
e sit beside, on top, and beneath the quality of our fine furniture and w

ill m
ake things right if you are not 

com
pletely satisfied w

ith your purchase. Loll Designs hereby guarantees that the piece w
ill be of good 

quality and w
orkm

anship, free from
 faults and defects. Loll w

arrants that all com
ponents w

ill not fail, 
under norm

al use, for five years from
 the year m

ark on the piece or the date of purchase. *For com
m

ercial 
orders the w

arranty is three years. 

D
AM

AG
ED

 PR
O

D
U

C
T

Som
etim

es accidents occur. Please inspect your Loll furniture w
hen you receive it to m

ake sure that it has 
not been dam

aged during shipping. If dam
age has occurred please take digital pictures of the dam

aged 
furniture and the box it w

as shipped in, and em
ail them

 to sales@
lolldesigns.com

 or call C
ustom

er 
Service using our toll free num

ber: 877.740.3387, ext. 1. The dam
age w

ill be assessed and you w
ill be 

contacted w
ith a solution to the problem

. It m
ay be helpful to save all of your packaging m

aterial in case 
a return is necessary.

ASSEM
BLY IN

STR
U

C
TIO

N
S & PR

O
D

U
C

T IN
FO

:

ASSEM
BLY TIPS      

*Please read before beginning assem
bly!

To avoid dam
aging furniture perform

 the assem
bly of your Loll furniture on a clean 

soft surface like a blanket, carpet, or the flattened cardboard box the furniture w
as 

shipped in. C
om

ponents should not be unnecessarily forced together!  If it seem
s 

parts aren’t fitting together you likely have som
ething w

rong and you should reread 
the instructions to ensure you are aligning the proper com

ponents. If your piece 
of furniture requires “Blocks” for assem

bly one side m
ay have protective film

 on 
it. This surface is hidden after assem

bly so the film
 can rem

ain on the block or 
it can be rem

oved.  U
se a C

ordless Screw
 G

un if you have one and know
 how

 
to use it. Set the clutch setting at m

edium
 torque. W

e do not recom
m

end using 
an electric drill w

ith a cord and w
ithout a clutch to install bolts in inserts as you 

can easily overtighten and dam
age the product. All bolts com

e standard w
ith a thread coating to reduce 

bolts loosening after assem
bly w

hile still allow
ing rem

oval and reuse of the bolt. Start all bolts by hand, 
w

ith the Allen Key, or the Loll Tool and tighten firm
ly until parts are draw

n tight together and you can’t 
m

uscle the bolt any tighter. It’s virtually im
possible to over tighten by hand. W

atch the assem
bly videos at 

w
w

w.lolldesigns.com
/videos for even m

ore inform
ation and visual aids. If you have m

ore questions please 
contact your Loll Sales Associate or C

ustom
er Service for support at 877.740.3387. A Pro Tool Kit can also 

be purchased from
 Loll for m

ulti piece assem
bly jobs.

** Please Recycle the BO
X and paper packaging. The green plastic stretch   w

rap w
e use is com

postable. 

LO
LL TO

O
L

Locate the box m
arked “Tool Included” 

before beginning assem
bly. 

BLO
C

K
 & BO

LT IN
STALLATIO

N
Insert bolts through countersunk hole side of blocks as show

n below.

C
O

R
R

EC
T

IN
C

O
R

R
EC

T

W
e w

ant you to love your Loll. 
Reach out if you need lollygagging assistance.
877-740-3387 
sales@

lolldesigns.com
5912 W

aseca Street | Duluth, M
innesota 55807

C
ountersunk 

      H
ole 

SATELLITE SID
E TABLES

& M
ILK

 STO
O

L



1

2

Repeat Steps 1 and 2 to attach remaining P2 legs.

GB

P2

P1

** 4 Leg Shown **

** 4 Leg Shown **

4 LEG 3 LEG

3x

7/8˝

or
an

ge

4x

7/8˝

or
an

ge

4x
GB

3x
GB


	lago-patio-chair-instructions
	satellite-endtableandmilkstool-instructions

